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GENERAL MATHEMATICS SSC-
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Sectlon-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Clircle the correct option i.e. A/ B/ C / D. Each part carries one mark.

0] 2—70 in terms of percentage is: .

A 35% B. 15% C. 30% . D 20%
(i) On a crop produced on artificial resources, Ushr is deducted at the rate of:

A 5% B. 10% C. 2.5% D. 25%
{iii) A machine installed by the bank to dispense cash to customer is called a/ an:

A Computer B. Scanner C. ATM D. Card reader
(iv) The Company undertaking the act of insurance is called:

A Insurer B. Insured C. Insurance D. Insurance policy
(v) The periodic installment to be paid by the insured is called:

A Bonus B. Discount C. Premium D. Markup

(vi) Tax in addition to the price of the articiz is cailzd:
A Tax B. Sales Tax C. Income Tax  D. Excise Duty

(vi)  In a” nis called:
A Radical B. Radicand C. Exponent D. Base

iiiy  log, m"=?

A nlog, a B. nlog m® C. alog, m D. nlog, m
{ix) {2,3,5 7 11,13, 17, ........ }is called the set of:

A. Integers | B. Rational numbers

C. Prime Numbers D. Irrational Numbers
(x) If A and B are two non-empty sets, A B=?

A ¢ . B Bud C. AN B D. B4

() Whatis a5for2, 6, 11,17......7
A 24 B. 30 C. 21 D. 22

(xil) InaGP, ag,=

A g+(n-Dd B +~ab . C a r"? D. . ar”
(xii) Graphs of equations in the form y = a have X — coordinate

A a B. Undefined C. 1 D. c
(xiv)  The pair of number (2, 3) is called an:

A Ordinate B. Abscissa C. Origin D. Orciered pair
(xv) The middle vaiues of data arranged in numerical order is called:

A Mode B. Median C. Mean \ D.. Geometric mean

For Examiner’s use only:

Total Marks: . 15
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GENERAL MATHEMATICS SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:

Attempt any twelve parts from Section ‘B’ and any four questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Logarithm tables and graph paper will be provided on demand.

Note:

Q.3

Q.4

Q.5
Q.6

Q.7
Q.8

SECTION — B {(Marks 36)

Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
) A family-has 12 birds of which 6 are parrots, 2 are sparrows and the rest are Pigeons. Find the ratio of
the numbers of:
a. Pigeons to sparrows b. Pigeons to birds
(i) Calcualte the amount of Ushr on a rice crop of weight 3000 kg produced by artifical source, if the price of

40 kg is Rs. 2000.

(i1} Find SP when CP=Rs. 126000, L.oss=5%.

(iv) Find the marked price when SP=Rs. 858 ; Discount = 12%.

(v) Mrs. Javed invests in savings scheme Rs. 800 at 6% per annum and Rs. 1200 at 7% per annum. What i
her total amount of profit on these two investments?

(vi) A person got an insurance policy for his car at the rate of 3.6%. He paid an amount of Rs. 12206 as the
1* premium of one year. How much is the price of his car while he had paid Rs. 200 as service charges?

(vii) The price of a bicycle is Rs. 3500. If 16% sales tax is charged, calculate the amount of sales tax on 50
such bicycles.

5 3.k Lo,
(viii)  Simplify (x“y7)° x(x? y“)*
(ix) Showthat 3log2+log5=1log40
303 '

() Simplify; 222

2045 b4
(xi) Whichtermofan AP 6, 2,-2 ... is — 1467
(xii) Insert two GMs between 1 and 8

xii)  U={1,2 34,586,789}, A={23 6, 0:B={1,3,6,7, 8. Verifythat (4 B)® = A° n B¢

(
(xiv)  IfA={-2,1, 4} then write two binary relations in A. Also write their domains and ranges.
(xv) Draw the figure with the help of the following points on the graph paper A (7, 2), B (-6, -3), C (5, 3).
(xvi)  Find the standard deviation of the values 2, 3, 6, 8, 11.

(xvii) Forthe data 3, 5, 6, 8, 8, 9, 10; find Mean , Median and Mode.

(xvili)  Find the term indicated in the given sequence 1,-3,5,-7 ........ a

SECTION - C (Marks 24)

Attempt any FOUR questions. All questions carry equal marks. - (4x6=24)

Rs. 3720 are to be divided into three shares is such a way that 1* share would be double, triple to the 2™ and
times to the 3" are equal.
75 32 s
Prove that log [E:I +log I:ﬂﬂ —2log [g] =log2
I 5" term of an AP is 16 and 20" terms is 46, what is the 15" term?

If A={l,m,n}and B={1,2,3}and g ={(,3),(m,1),(n,1)} is a binary relation from A x B, show that ‘g’ is
into B function.
Draw the graph of y = 2x - 3.

Find the mean weight of 120 students for the distribution of weights in the following table by deviated method.

Weight (Pound)|110-119 120-129 [130-139]140-149[150-159 [160-169 [170-179 [180-189 [190-199]200-209]210-219
Frequency {f) 1 4 17 28 25 18 13 8 5 2 1
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